VINAYAK AGGARWAL

Registered Valuer

Valuation Report of Shares of

Kintech Renewables Limited

CIN - L46102GJ1985PLC013254

Valuation Date: September 21, 2023

Valuation Report Date: September 22, 2023



COMPANY OVERVIEW

Kintech Renewables Limited ("Company") is an entity incorporated on April 09, 1985 under Ministry of Corporate Affairs (MCA). The Registered office of the Company is Kintech House, 8, Shivalik Plaza, Opp. AMA, IIM Road, NA, Ahmedabad, Gujarat-380015, India.

The Company is a Public Limited Listed Entity having Authorised Share Capital of Rs. 6,00,00,000 and Paid-up Share Capital of Rs. 4,00,00,000. The Current Status of the Company as per MCA Records is - Active.

Following are the directors of the Company as on report date:

Sr. No.	Name of Directors	DIN
1.	Prakash Kumar Singh 0639886	
2	Khushboo Singhal	09420048
3	Arihant Chopra	09436637
4	Shivkumar Niranjanlal Bansal	09736916

The Company carries on the business of power generation, electric power, light and supply and to generate, receive, purchase, develop, use, sell, supply, distribute and accumulate electric power and to transmit, distribute and supply such power through transmission lines and facilities and generally to develop, generate and accumulate power at any place or places and transmit, distribute, sell and supply such power and in particular to construct, layout, establish, fix, carryout and run all necessary power stations, workplace, repair, substations, transmission lines, cable, wires, accumulators and work and to generate, accumulate, distribute and supply electricity to light cities and towns, streets, bocks markets, theaters, building and places both public and private and to establish, operate and



maintain generating station and tie-line, sub-station and main transmission lines connected therewith and to operate and maintain transmissions lines connected therewith and to operate and maintain such generating stations, tie-lines, sub stations and maintain transmissions lines are assigned to it by the competent government or governments.

(This space has been left blank intentionally)



VALUATION OF SHARES

1. Scope and Background for Valuation

We have been appointed by the Company on September 20, 2023 to estimate the fair value of shares of the Company. Accordingly, the Company only is the intended user of this report. The purpose of valuation is to comply with the provisions of Securities and Exchange Board of India (Issue of Capital and Disclosure Requirements) Regulations, 2018 for further issue of shares through preferential allotment.

2. Disclosure of Interest

The valuer is a registered individual valuer and does not have any sort of interest in the company. Further, the valuer is not having any type of conflicts with any party, related to the above securities.

3. Disclaimers and Limitations

- i. This report has been prepared solely for limited purpose as mentioned above and should not be relied upon for any other purpose and without appreciation of the limitations under which the valuation has been carried out. We do not assume any responsibility or liability to any third party to whom the report is disclosed or otherwise made available. Consequently, users are cautioned that this valuation Report may not be appropriate for the purposes other than as described above.
- The valuation may be based on the company's unaudited records and future projections prepared by the management.



23

- iii. The valuer does not give any representation or warranty (express or implied) in relation to the accuracy, reasonableness and/or completeness of the information contained in this document. No responsibility or liability is accepted for any direct, indirect or consequential loss or damage suffered by any person arising there from and the same is expressly disclaimed.
- iv. As per the management, there is no contingent or any other liability which has arisen either as on or after the date of valuation which are likely to affect materially the state of the balances of accounts as on that date.
- v. For the purpose of this assignment we have relied upon and accepted the information and representations made available to us by the management of the Company and our conclusions are dependent on such information being complete and accurate in all material aspects.
- vi. Although we have ensured the appropriateness of the estimates and assumptions, we were neither required nor have we independently verified, or carried out a due diligence of the management's information and future projections (wherever applicable) submitted to us for the purpose of this valuation. Valuation is based on estimates of future financial performance or opinions that represent reasonable expectations at a particular point of time, but such information, estimates or opinions are not offered as predictions or as assurances that a particular level of income or profit will be achieved, that events will occur, or that a particular price will be offered or accepted. Actual results achieved during the period covered will vary from these estimates and these variations may be material. We express no opinion as to how closely the actual results will correspond to the results projected.
- vii. In furnishing this report, we reserve the right to amend or replace the report at any time. Our engagement will be governed by and construed in accordance with Laws

of India. All disputes hereunder will be subject to final & binding arbitration in New Delhi, India in accordance with Arbitration & Conciliation Act, 1996 as amended.

viii. The Company or user of this report has verified the factual accuracy of the contents of the report. In case of any discrepancy, the same must be brought to the notice of undersigned within 5 days of issuance of this report.

4. Bases, Premise, Approach and Method of Valuation

Bases of Valuation

Fair Value of shares of the Company.

Valuation Premise

The valuation has been conducted on the premise of Going Concern Value.

Going concern value

It is the value of a business enterprise that is expected to continue to operate in the future. The intangible elements of Going Concern Value result from factors such as having a trained work force, an operational plant, the necessary licenses, marketing systems, and procedures in place etc.

Valuation by its very nature, cannot be regarded as an exact science and the conclusions arrived at in many cases will be subjective and dependent on the exercise of individual judgment. Given the same set of facts and using the same assumptions, expert opinions may differ due to the number of separate judgment decisions. There can therefore be no



standard formulae to establish an indisputable value, although certain formulae are helpful in assessing reasonableness.

The Fair Value of shares has been computed by considering compliance with the provisions of Securities And Exchange Board Of India (Issue Of Capital And Disclosure Requirements) Regulations, 2018.

Definition of Fair Value

Valuation Standards 2018 issued by The Institute of Chartered Accountants of India defines Fair Value as:

Fair value is the price that would be received to sell an asset or paid to transfer a liability in an orderly transaction between market participants at the valuation date. Fair value is the price in an orderly transaction in the principal (or most advantageous) market at the valuation date under current market conditions (i.e. an exit price) regardless of whether that price is directly observable or estimated using another valuation technique.

Fair value is usually synonymous to market value except in certain circumstances where characteristics of an asset translate into a special asset value for the party(ies) involved.

Price

Fair value assumes that the price is negotiated in a free market (which may be domestic or international). Fair value reflects characteristics of an asset which are available to market participants in general and do not consider advantages/ disadvantages which are available/applicable only to particular participant(s).

The price in the principal (or most advantageous) market used to measure the fair value of the asset shall not be adjusted for transaction costs. To this end, a market in which the



volume and level of activities is high, or one in which the realisation from an asset is maximum, is considered.

Orderly transaction

Orderly transaction is a transaction that assumes exposure to the market for a period before the valuation date to allow for marketing activities that are usual and customary for transactions involving such assets or liabilities and it is not a forced transaction. The length of exposure time will vary according to the type of asset and market conditions.

Market participants

Market participants are willing buyers and willing sellers in the principal (or most advantageous) market for the asset or liability that have all of the following characteristics:

- (a) they are independent of each other, that is, they are not related parties as defined under applicable accounting framework and set of reporting/ accounting standards therein, although the price in a related party transaction may be used as an input to a fair value measurement if the entity has evidence that the transaction was entered into at market terms;
- (b) they are knowledgeable, having a reasonable understanding about the asset or liability and the transaction using all available information, including information that might be obtained through due care that is usual and customary;
- (c) they are able to enter into a transaction for the asset or liability; and
- (d) they are willing to enter into a transaction for the asset or liability, i.e., they are motivated but not forced or otherwise compelled to do so.



C 30

Valuation Approaches

Market Approach

Market approach is a valuation approach that uses prices and other relevant information generated by market transactions involving identical or comparable (i.e., similar) assets, liabilities or a group of assets and liabilities, such as a business.

The following are some of the instances where a valuer applies the market approach: (a) where the asset to be valued or a comparable or identical asset is traded in the active market;

- (b) there is a recent, orderly transaction in the asset to be valued; or
- (c) there are recent comparable orderly transactions in identical or comparable asset(s) and information for the same is available and reliable.

Cost Approach

Cost approach is a valuation approach that reflects the amount that would be required currently to replace the service capacity of an asset (often referred to as current replacement cost).

In certain situations, historical cost of the asset may be considered by the valuer where it has been prescribed by the applicable regulations/law/guidelines or is appropriate considering the nature of the asset.

Examples of situations where a valuer applies the cost approach are:

- (a) an asset can be quickly recreated with substantially the same utility as the asset to be valued;
- (b) in case where liquidation value is to be determined; or
- (c) income approach and/or market approach cannot be used



The following are the two most commonly used valuation methods under the Cost approach:

(a) Replacement Cost Method; and (b) Reproduction Cost Method.

Income Approach

Income approach is a valuation approach that converts maintainable or future amounts (e.g., cash flows or income and expenses) to a single current (i.e., discounted or capitalised) amount. The fair value measurement is determined on the basis of the value indicated by current market expectations about those future amounts.

This approach involves discounting future amounts (cash flows/income/cost savings) to a single present value. The following are some of the instances where a valuer applies the income approach:

- (a) where the asset does not have any market comparable or comparable transaction;
- (b) where the asset has fewer relevant market comparable; or
- (c) where the asset is an income producing asset for which the future cash flows are available and can reasonably be projected.

Some of the common valuation methods under income approach are as follows:

- (a) Discounted Cash Flow (DCF) Method;
- (b) Relief from Royalty (RFR) Method;
- (c) Multi-Period Excess Earnings Method (MEEM);
- (d) With and Without Method (WWM);
- (e) Comparable Companies Multiple Method and;
- (f) Option pricing models such as Black-Scholes-Merton formula or binomial (lattice) model.



A valuer can make use of one or more of the processes or methods available for each approach. The appropriateness of a valuation approach for determining the value of an asset would depend on valuation bases and premises. In addition, some of the key factors: that a valuer shall consider while determining the appropriateness of a specific valuation approach and method are:

- (a) nature of asset to be valued;
- (b) availability of adequate inputs or information and its reliability;
- (c) strengths and weakness of each valuation approach and method; and (d) valuation approach/method considered by market participants.

Method Adopted

Weighted average of Net Asset Method (Cost Approach), Comparable Companies Multiple Method (Income Approach) and Market Price Method (Market Approach) has been used for valuation of shares. Discounted Cash Flow Method has not been used considering future cash flow projections were not shared with us. Compliance with International Valuation Standards and Valuation Standards issued by The Institute of Chartered Accountants of India has been ensured while preparing this report.

5. Source of Information

For the purpose of valuation, we have relied on the following information made available to us by the management:

- i. Audited Financial Statements as on March 31, 2023;
- ii. MOA and AOA of the Company;
- Data as made available for public by Ministry of Company Affairs (MCA)through its website;



- iv. Data as made available for public by Bombay Stock Exchange (BSE) through its website;
- v. Other relevant details regarding the Companies such as their history, their promoters, past and present activities, other relevant information and data including information in the public domain;
- vi. Such other information and explanations as we required and which have been provided by the management.

6. Valuation of Shares

Net Asset Value Method

We have considered the latest available balance sheet of the Company (as available in public domain) as of 31st March 2023 and have computed net worth per equity shares of the Company. Our calculations are given below:

		Amount
		(Rs. In Lakhs)
Financial Assets		5.14
Property, plant and equipment	0.03	
Other intangible assets	0.06	
Other financial assets	5.05	
Non-Financial Assets		1,213.15
Cash and cash equivalents	1,177.83	
Bank balances other than (ii) above	0.37	
Other financial assets	27.25	
Current tax assets (net)	1.58	
Other current assets	6.12	
Total Book Value of Assets (A)		1,218.29
Financial Liabilities		0.01
Deferred tax liabilities (net)	0.01	
Financial Liabilities		1.47
Other financial liabilities	1.37	
Other current Liabilities	0.10	
Total Book Value of External Liabilities (B)		1.48
Net A	sset Value (A-B)	1,216.8
Number of Equity Shares Outstand	ding (No. in Lakhs)	10.00
	Per Share (In Rs.)	121.68



Accordingly, as per information available in public domain, we have computed the value under Net Asset Method (Cost Approach) to be Rs. 121.68 per equity share.

Comparable Companies Multiple Method

Under this approach, we have computed fair value per equity share using Price to Earning (P/E) Multiple. Since this is capitalization of earnings and is based on valuation multiples, it can be classified under Market Approach or Income Approach. The P/E multiple has been considered based on average of multiples of following Comparable Companies that are listed on BSE Limited:

Peer Companies	P/E Ratio
Borosil Renewables Limited	76.49
GAIL India Limited	21.05
Indian Energy Exchange Limited	39.35
Waaree Renewables Technologies Limited	42.00
JSW Energy Limited	121.69
Average P/E Ratio	60.12

Source - www.bseindia.com

Computation of fair value using P/E multiple:

S.no.	Particulars	Unit	Rs. In Lakhs
1	PAT for the year ended 31 Mar 23 *	Rs. in Lakhs	19.71
2	Adjusted P/E multiple	X	60.12
3	Net Equity Value (1) * (2)	Rs. in Lakhs	1,184.89
4	No. of Equity Shares	Lakhs	40.00
	Fair Value per Equity Share (3) / (4)	Rs.	29.62

Therefore, fair value of the equity shares under Income Approach as on 31 March 2023 has been considered as **Rs. 29.62 per equity share.**

Market Price Method

Fair Value as per Market Price method has been considered as the higher of the following:

i. 90 trading days volume weighted average price of the equity shares quoted on the BSE stock exchange preceding the valuation date. 90 trading days volume weighted average price of the equity shares is Rs. 2,650.54 per equity share.



ii. 10 trading days volume weighted average price of the equity shares quoted on the BSE stock exchange preceding the valuation date. 10 trading days volume weighted average price of the equity shares is Rs. 4,634.63 per equity share.

Therefore, Fair Value of the equity share under Market Approach as on March 31, 2023 has been considered as Rs. 4,634.63 per equity share.

7. Value Conclusion

Weighted Average Value of Shares:

Valuation Method	Approach	Value per Share	Weight	Value * Weight
Net Asset Method	Cost Approach	121.68	0.20	24.34
Comparable Companies Multiple Method	Income Approach	29.62	0.20	5.92
Market Value Method	Market Approach	4634.63	0.60	2,780.78
		Fair Value	per Share	2,811.04

To the best of our knowledge and understanding, and relying upon the information and assumptions as mentioned above the value per equity share of the Company works out to be Rs. 2,811.04 per equity share as on September 21, 2023.

Vinayak Aggarwal

Registered Independent Valuer

Securities or Financial Assets

IBBI Registration Number: IBBI/RV/06/2023/15322

UDIN: 23537842BHAMZS5302

Date: September 22, 2023

Place: New Delhi

VINAYAK AGGARWAL

Registered Valuer

OFFICE ADDRESS: C-42, SOUTH EXTENSION PART II, NEW DELHI 110049
EMAIL: vinayakggrwl@gmail.com Contact Number: 9811994412

To
The Board of Directors,
Kintech Renewables Limited
Kintech House, 8, Shivalik Plaza, Opp. AMA, IIM
Road, NA, Ahmedabad, Gujarat-380015, India.

Subject: Addendum to our valuation report dated September 22, 2023.

This is with reference to our communication on November 01, 2023 & Valuation Report dated September 22, 2023, wherein we had determined the Fair value of Equity Shares proposed to be issued of Rs. 2,811.04/- per share.

The calculations of Market price Method are as under:

90 Trading days

Day Nos	Date	WAP	No. of Shares	Total Turnover (Product)
1	21-Sep-23	5216.89	18	93,904
2	20-Sep-23	5114.64	50	2,55,732
3	18-Sep-23	5014.40	48	2,40,691
4	15-Sep-23	4916.00	7	34,412
5	14-Sep-23	4819.75	76	3,66,301
6	13-Sep-23	4725.24	42	1,98,460
7	12-Sep-23	4632.60	10508	4,86,79,360
8	11-Sep-23	4541.79	38	1,72,588
9	08-Sep-23	4452.75	92	4,09,653
10	07-Sep-23	4365.44	115	5,02,026
11	06-Sep-23	4279.90	39	1,66,916
12	05-Sep-23	4196.00	11	46,156
13	04-Sep-23	4113.75	259	10,65,461
14	01-Sep-23	4033.09	58	2,33,919
15	31-Aug-23	3954.05	120	4,74,486
16	30-Aug-23	3876.54	41	1,58,938
17	29-Aug-23	3800.50	2	7,601
18	28-Aug-23	3726.05	3944	1,46,95,541
19	25-Aug-23	3653.00	213	7,78,089
20	24-Aug-23	3581.40	121	4,33,349
21	23-Aug-23	3511.20	35	1,22,892



22	22-Aug-23	3442.39	31	1,06,714
23	21-Aug-23	3374.92	25	84,373
24	18-Aug-23	3308.80	104	3,44,115
25	17-Aug-23	3243.95	6403	2,07,71,011
26	16-Aug-23	3180.34	174	5,53,380
27	14-Aug-23	3118.00	191	5,95,538
28	11-Aug-23	3056.90	105	3,20,974
29	10-Aug-23	2997.00	4	11,988
30	09-Aug-23	2938.25	181	5,31,823
31	08-Aug-23	2880.65	3967	1,14,27,538
32	07-Aug-23	2824.17	18	50,835
33	04-Aug-23	2768.84	31	85,834
34	03-Aug-23	2714.60	15	40,719
35	02-Aug-23	2661.40	60	1,59,684
36	01-Aug-23	2609.25	488	12,73,314
37	31-Jul-23	2558.10	186	4,75,806
38	28-Jul-23	2507.95	119	2,98,446
39	27-Jul-23	2458.80	25	61,470
40	26-Jul-23	2410.60	55	1,32,583
41	25-Jul-23	2363.17	113	2,67,038
42	24-Jul-23	2317.05	41	94,999
43	17-Jul-23	2271.65	2620	59,51,723
44	07-Jul-23	2227.15	336	7,48,322
45	06-Jul-23	2183.50	52	1,13,542
46	05-Jul-23	2140.70	331	7,08,571
47	04-Jul-23	2098.75	99	2,07,776
48	03-Jul-23	2057.60	15	30,864
49	30-Jun-23	2017.30	130	2,62,249
50	28-Jun-23	1977.75	150	2,96,662
51	27-Jun-23	1939.00	21	40,719
52	26-Jun-23	1901.00	69	1,31,169
53	23-Jun-23	1863.00	1	1,863
54	22-Jun-23	1827.25	61	1,11,462
55	21-Jun-23	1791.45	65	1,16,444
56	20-Jun-23	1756.32	34	59,715
57	19-Jun-23	1721.95	6946	1,19,60,664
58	16-Jun-23	1688.20	2676	45,17,623
59	15-Jun-23	1655.10	165	2,73,091
60	14-Jun-23	1622.65	411	6,66,909
61	13-Jun-23	1590.85	26	41,362
62	12-Jun-23	1559.70	106	1,65,328



			average market price	2,650.54
		Total	Volume Weighted	55,355
		Total	Total Product Shares Traded on BSE	14,67,20,630
			55,355	14,67,20,630
90	03-May-23	896.40	202	1,81,073
89	04-May-23	914.30	127	1,16,116
88	05-May-23	932.55	587	5,47,406
87	08-May-23	951.20	783	7,44,789
86	09-May-23	970.20	182	1,76,576
85	10-May-23	989.60	269	2,66,202
84	11-May-23	1009.35	237	2,39,215
83	12-May-23	1029.50	8502	87,52,809
82	15-May-23	1050.04	71	74,553
81	16-May-23	1071.05	397	4,25,206
80	17-May-23	1092.45	215	2,34,876
79	18-May-23	1114.24	83	92,482
78	19-May-23	1136.50	282	3,20,493
77	22-May-23	1159.20	55	63,756
76	23-May-23	1182.31	16	18,917
75	24-May-23	1205.91	22	26,530
74	25-May-23	1230.03	29	35,671
73	26-May-23	1254.33	3	3,763
72	29-May-23	1279.69	101	1,29,249
71	30-May-23	1305.18	11	14,357
70	31-May-23	1331.33	21	27,958
69	01-Jun-23	1357.94	31	42,096
68	02-Jun-23	1385.09	11	15,236
67	05-Jun-23	1412.80	99	1,39,867
66	06-Jun-23	1441.00	1	1,441
65	07-Jun-23	1469.85	198	2,91,030
64	08-Jun-23	1499.19	32	47,974
63	09-Jun-23			4,60,274

10 Trading Days:

Day Nos	Date	WAP	No. of Shares	Total Turnover (Product)
1	21-Sep-23	5216.89	18	93,904
2	20-Sep-23	5114.64	50	2,55,732
3	18-Sep-23	5014.40	48	2,40,691



				4,634.63
			10,994	5,09,53,127
10	07-Sep-23	4365.44	115	5,02,026
9	08-Sep-23	4452.75	92	4,09,653
8	11-Sep-23	4541.79	38	1,72,588
7	12-Sep-23	4632.60	10508	4,86,79,360
6	13-Sep-23	4725.24	42	1,98,460
5	14-Sep-23	4819.75	76	3,66,301
4	15-Sep-23	4916.00	7	34,412

Therefore, Fair Value of the equity share under Market Approach as on September 21, 2023 has been considered as Rs. 4,634.63 per equity share.

This addendum is annexed to our original report and should be read together with our original report.

Please feel free to contact us if you need any further information or clarifications.

Thanking you,

Vinayak Aggarwal

Registered Independent Valuer

Securities or Financial Assets IBBI Reg. No.: IBBI/RV/06/2023/15322

Date: November 01, 2023

Place: New Delhi